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PART 1: SOCIAL STUDIES
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Stmf; the map of Noni Area and answer

1. The Iand in Noni area rises from
A. South io North
B. Morth to Soutk
C. East to West

D. West wo East.

2. Themain faztorthat has determmed population

A2 Riool A
hiery munt.m inneniARCa s

A. road network
B. security
C. economic activities
D. rainfall,
2 The senior most adiministiaior re ent vs?nimn the

National govemment in Noni Area is
A, govemor

B. county commissioner
C. chief
o

™l ke
AT UTICCT,

4. Three of'the following economic activities are

o wngn r\ut 1n H nnc Ao 3

A.Lumbering
B. Mining

Tins cinna
C. Tourism

P TR e
FFEo Ul l\; lﬁ‘ ll'ﬁ:’l .

D. Cash crop growing.
5. Whichone of'the following social facilities is
urgently needed in Noni area?
A Hgap'rh:
B. Church
C. School

D Cantie din
L. Cattledip,

6. The climate of the North Western part of Noni
A. cml and wet
B3. not and wet

C.cooland dry

- B

—

i
powis

5

Traders in Noni town caught a man with stolen
items. Which one of the following is the hest
action for them to take?

A. Take the stolen items to the governor

B Talethootalor fommenbo o koo

Bee Buns siie Slachr (L0013 DacK 10 1NE OWIIET,

C. Take the person to the police post.

D. Report the person to the county

PR, S R &
comimissioner’s nffice

Which one of the following social practices did
the Bantu leam from the Cushites?

A. Cattle keeping

= TP o S

L2, iU IVIBIGE

C. Naming

D. Basketry.

Traditional cultural antefacts are preserved in the

Museum mainly to

A, earnthe conntry foreign exchange

B. attract tourists

C. create jobs in the country

D help us learn how people lived in the nas

Wiich oiic ol ihe following is noi irue about

age-set systems in traditional African Society?

A. They comprised of people who were initiated
atihe same time,

B. They were made up of people who were

born around the same time.

Th

. 31t MEn |'i‘w“"S§“;mngu ﬁLUﬁL
clans,

™

il i : T
from their own

. They comprised of peopie who were seen as
brothers.

The frlinuing ars saarlt & ”
the .m.g‘f-.ubun,u.,mn.,n.uun.uuu\‘mnn.»u

Africans and the Arabs at the Coast, Which one
is not?

A. Introduction of new items of irade.

B. Building of Fort Jesus.

(. Introduction of fire arms into Eastern Africa.
D Iateadiet

tiry 5
s, gl wAaLLuln

D. hot and drv.




12. The main problem facing road transport in

_ A. careless road users

= T LG A G I s .
L. HORAl LA UL CUNSUUCLION and [maimienance

C. inade

quate skills to construct good roads

D. illiteracy.

13. The main factor influencing distribution of

wrnmatetiom fe A folnn I
T LISk na s A KT Kaekd 10

A. soil

B. altitucie a

C. rainfal

D. latitude.

14. Which one of the following crops is mainly

grown in

Hararand Kaffa areas?

A, Pyrathnr

oymeianm

B. Sisal

Ll 2 T

. DANGHaS

D. Coffee.

A. Iroko

CoR PR T . X, .
Which One o1 ?J!w‘ i %Dwz"‘}u \'ﬁrgir'\ oftrees is

ound in planted forests?

B. Gravelia
C. Cypress

i Dina
5.8

& dnamn

Use the diagram below to answer question

16,

e |

16. The weather instrument shown above is used to

determine

A
A. theam

ount of rainfall

B. amount of water vapour in the atmosphere
C. speeu of wind

D.a

pheric pressu

17.

18.

19.

2L

Which one ofthe following physical features was

frrmed when vauno cedimentary 1o %:d\f{‘lo
e wheh young p

A. Ruwenzori mountain
B. Lake Vicioria

C. The great Rift Valley

D. Drakensberg mountain.

Three of the following are oil refineries in
~ P 1 ]
[ Y

.
i\upﬁ! in, Whichoneisn

A. Warri

LA 5 PRV § SRR
[ S P § \Jn. l lubvul L

C. Kaduna
D). Kumasi.

The most effective way of reducing the number
ofroad aceidents in Kenya is by

A. employing more traffic officers

B. buiiding more roads

C. educating road users on the importance of

h
The LOVENINCHt SHCourages the yout! o

establish Juakali industries mainly in order to
A. create self- employment

PSPy e n
educe rural-urban migration

n
. 1EGUCT U
C. increase the nation’s export

% ormm e cncum oo e x o pifion g enteami oyl
L2, (aRC ubC O WaSW Mana:s.

Which one of the following is not true about
!i"!‘?

tomary marriages in Kenya?

A, Itiscarried out according to the customs of
iic society.

B. A man may marry many wives.

C. Itis strictly monogamous.

0. Dowr v is ’ﬁax’i

Karurmne, a standard eighi boy has founid his
friend smoking. The right action for him to take
isto

A, avoid him comnietely

B. advise him on the dangers of smoking

C. join him in smoking

i rr‘muf"iﬁ"h the headteache
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Below are conditions that favour the growthofa
Snain Ciop.

(i) Warm climate with temperature of above 24°.
(ii) High humidity.

(ii) Heavy rainfall of above 2000mm per veor

(v) Shelter from strong wind and sunlight when

L LI ERFET
P

The conditions above favour the growth of

25.

26.

27.

A. coffee
B. cloves
C.tea

M srnsmme
L3 E0C0A,

L0 L T VL P R IS LIS PR S O
. The Biihisn used inaiect rule to administer

Northern Nigeria mainly because

A. the area had a well organised traditional
government

B. the chiefs in the region were ready to

manmannta
VULPLTAE

C. the area was large hence expensive to rule
directly
D). the region had poor transport and

communication networks.

Which one of the following groups of lakes
WEre Unned dnougi voicanic activitics?
A.L.Saru, L. Turkana, L.Kariba.
B. L. Nyos, L. Tana, L. Paradise.

C.L.Gambi, L. Bilisa, L. Okavango.

D. L. Turkana, L. Baringo, L.Victoria.

Which one of the following statements least
explains why the Kingdom of e Ancient Gliana
grew successfully?

A. Wealth from the Trans-Saharan trade.

ssion of strong able leaders,

C. Good geographical position.

o £ oo B the Eranch in Wed 4 frica
irs. I TH FIE e R

‘)}!\M B AR NERE sare

R Succe

Which one of the following muiti-purpiss v
projects was established mainly to promote
food security?

A. Tana River water proect.

B. Aswan High dam.

B ee W ba aakarna

T, FRETRE TR e v e

D. Kariba dam.

28. Inwhich of the following towns in Affica does

£ t T LA N U SN O |
N TONZHUUL TTIarkey O pass uinvugh.

A, Ghana

29. The main economic activity of the people who
live in the shaded area marked v is
A. mining
B. pastoralism
C. cash crop growing
| Y TN S S
LY, s is.
-
30. The country marked T was colonised by

A, British
C.French
D. laly.



31.

32.

33.

34,

L
Lin

An administrative function of Addis Ababa is that
itis
A. acommunication centre
B aresidential centre
. an educational centre

D. the headquarters of African Union.

Which one of the following factors greatly
contributed to rapid industrial development in
South Africa?

A. Wide market.

B. Skilled labaoiir.

C. Presence of raw materials.

D. Good infrastructure.

Which one of the following is amanufacturing
'Eii(;us‘u'y'?

A. Glass making

B. Grainmilling

-
L, \nu.n proces

D. Fruit canning.

Which one of the following facts about the
population of India is true?
A. Most people live in urban areas
B. Life expectancy is above 75 years.
C. Famiiies enjoy high siandards of jiving.
D. Most people live in rural areas.
staternents aboii ihe
correct? It liesto the
A. South of i:qualoi

B. East of prime Meridian
C. West of Atlantic Ocean

LS T L U S o S T SO ) T . T
VY HHCH OE OF Uic FONOWIRE 15 not a Siminariiy
between the governments of Kenya and
Swaziland? Both

A have many political pantie

W

B. have two houses of parliament
C. heads of staies are nol members of

parliament

37. Which one of the following is a way of

demonstrating patriotism?
A. Raveotting national holiday celebrations.
B. Participating in corrupt deals.

tha ciata

C. Upllummg ihie secrets ot the stat

D. Obeying some of the laws.

The last Bantu community to migrate into Eastern

Africainthe 19* Century was

B Kamba
C. Nyamwezi

D. Mgoni.

11! Wikink ~ma ~ftha inlAuunn m nai o luur!QT
e YV G v U oS iU Lhria

destination in Eastern Africa?
A. Victona Falls
B. Vascoda Gama nillar

C. Maasai Mara

N Buwindi Natianai nark

40. Which one of the foliowing best descrives ihe
political organization of the San?
A. Leadership was given to the eldest person in
the Cﬁmﬁiuﬁnv
B. Chiefs were assisted by elders.
VLl . YRR 30, (PR S | - . = N N
e LACCISTURED WL [Haac HOUUZ CONSCHSUS,

D. Believed in the moon and the praying mantis.

an g\v |§‘S I nif‘
The} decided to take the

Which method of conflic
..... &t COf 1} dtv; 3 »qvnuuvu ulu UIny

e toacourt oflav.,

use?
A. Enquiry

B. Conciliation
C. Mediation

D, Litigation
aatic

4Z. T best way of curbing rurai-urban migration is
by
A. creating more industries in rural areas

n
. u’“iuul

netw nrl\s in the ruml areas

D. heads of states are the commanders-in-

chief of the armed forces

Copron 'ru‘m;_: a'uéqﬁmnvmél'ri'c{\ = o 2y

D. chasing people from towns.
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Vhichone ofth “:‘""'E 18 N0t a role of

citizens in the electoral process?

A. Receiving money from candidates.
B. Fromoting free and fair elections.
C. Patticipating in elections.

D. Evaluating performance of elected leaders,

Which one fthe following was not an 2t of

not an effect of

settler farming in Kenya?

A. Itled to growth of some towns.

8. Alvicans were employed as managers in ihe
seftler farms.

C. It solved the problem of squatters

D. Itled to introduction of new crops.

The bestway of conserving wildlife is by

A, fencing national parks

L3 e | [ SR S | [ Ve T, %

L. GHITGHInE e scHng Or game HOpnics

C, establic

D. educating
wildlife.

shing animal orphanages

ople on the importance of

Which one of the following factors would
influence the location of a bakery factory
[T f\\d!iﬂullﬂ) Ul

A whent

B. market

C . power

3, Iabour,

The main crop grown in Perkerra irrigation
scheme is

A pawpaw

B French beans

C.nice

13 seed maise

o
o

Use tive diagram beiow fo ansinei

guestion 48.
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above are known as

A. faulting forces

[ 5 JPPR
[ERRLSTRL
C. compressional forces

D. upthrust forces.

. The time in Tikoni town 30" West is 8:50am,

What time will it be at Puma town which is at

Which one of the following sets of countries was
eolonised h}e
A. Libya, Zambia, Kenya.

B. Nigeria, Togo, Lesotho.

ihe Portugiiese?

£ Opinea Anpnia RMasrambi
- SQUINCZ, ANGO:E, MOZaM!

D. Camerocon, Senegal, Tunisia,

Thaps arse shat et ie. o Ciap tins Goammn 5
OC BRI gg_,u,.s ¢ for the formatios

-

wasto
A, assist hiberation of African countries

B et A Belosn jumie
i PTG A i Uity

P

promote friendhy relations mmong Meican

countries

-}

promote bade among memoer siaies
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V4. DEIOW are siaiemenis aboui a ceriain minera

EEimy pd
dErane llll\ .‘f&.

() It is mined at the floor of the Rifi Valley.

(i) It is used to filter water:
(i) Ii is whiite in appearance.

The mineral described above is

A. ﬂuotspar

B. limestone
o~ o

£ e
e UG G

D, diatomite,

LIGC

53. The fo!]owing are contributions of a certain

54

th
L

Toodo A £
Im\lUl lll Ryt I\'ﬂ
(D) Brought judicial reforms.

(i) F ounder member of OAU.
(iii) Brought land reforms.

25 \ Sy

£ T P A
‘(V/ i ruus}uuu‘.pu [ 7 e uu:.u[

A. Nelson Mandela
B. Gamal Nasser

ruiers excepi

B. Nabogo Mumia
C. Waiyaki wa Hinga
D. Lewanika.

Thika has grown into an important town in
Kenya mainly because it

A. has tourist attractions

B, hasmany indiisries

C. has high population

D. is surrounded by an area with adequate

rainfall.

The following leaders collaborated with colonial

=

57.

n
B

60.

S9.  1ne diagram beiow iliustrates the formation of a

At what time does it occur?
A. Day

B RNiahi
&, Mg

C. Evening
D. Moming.

The institution of marriage is important because
of the following reasons except that it
A, mv?ia SENSE 07 bs;gwﬁm 4

B. promotes companionship
C. promotes ethnic hatred

‘The fouowmg are ways on How Orie miay 105
at. Which one isnot? If one

. loses Kenyan citizenship

. 1Sof unsound mind

CI}

C.isj

D. visits another country.
Ramps are constructed in major public buildings
in orderto

A. enabie good circuiation o1 ai

B. enable the building withstand earthquakes

. Shabie the punidin

C, be used b_y peopie on wheelchairs

Which one of the following arms of the
ZOVEmImernt ensuics ihiai there i3 Jaw and order in

’kann- mnt ‘?
exiza y -

A. Judiciary
B. Executive

D. Senate.




PART Ii: RELIGICUS EDUCATION
SECTION B

RISTIAN REFIGIOUS EDUCATION

62.

63.

64.

65,

60.

67.

Wﬁifﬁ (1] ht ?I‘lé inllﬂ\!nng ﬂqfemgnm w trna

according to the Genesis stories of creation?
Human bemm were

A. created to keep the serpent company

B. created to resemble Gad

L
L. BIVER POWET oV uuu au:auuu

D. created mainly to reproduce,

The main reason why Noah built the Ark
was to

A, Rt God's wili

B. worship the Lard there

{7 hidabhic fail

s BEAASe Z2¥ed INAZAENS

D. protect the animals.

Which one of the following groups of animals
were offered by Abraham during his covenant
with God?

A. Cow, goat, ram,

B Lae somssl bl
e aawrdy SETNCL SR

C. Lamb bull, dove.

‘ua ail l%i ﬁ%:

The main teaching from the story of Joseph
and his brothers in Egypt is that we shouid be
A honest
imrm,. m-i mn
b~
forgwmg
bl

lmu Hisi N

Whichone of the following
commanaments teaches Christians about the
respect for the institution of marriage?

A 1‘laﬂﬁ;ﬁﬁﬁu?aanun{-‘miﬁirﬁh
Sre orebr ninit RLLULS

B. Worship no other god but me,

= 5 1l o
C. Honour youy father and mother.

D. Do not commit adultery.

The main reason why God did not aliow
Moses 1o enter into the promised land was
A% aed oo
iU 1
A. helped the Israelites make the
golden calf
B. dropped the ten commandments and
broke them
C. struck the rock instead of speakingto it
D. fell sick and died in the wilderness.

Who among the following Kings of Isracl
ﬂ,‘,,fq,m'mri renene gnmnu nw uu?; nr i -(ﬂ'?
A ng Ahab.

v }’uﬁ% Solomon.

C.King David.

D.King Saul.

e

69,

70.

72.

73

74

~3

e
Lidiil ‘1mr‘mn the i

hr\'t Judge of l:c,};;zf’}u" ing peapie was ihic
3 L =

s umuuu

C. Gideon

D, Samson,

King David made Jerusalem g centre of
ku'xngﬁ li!l
A mnturmg it from the Jebusites

3. building a temple there

‘ Uuuumb tis paiace there
D bringing the covenant box there.

Below is a description of a certain prophet.
(i) He candemned ng Ahab for rligw

A AP

AT
1 «Lacdie sy uuu u”un :n: rlln.;ulu

(ii) He drank water from the brook and
wzu?ﬁhl A,U Favong

I'he prophet described above is

A. Elisha

B ieremiah

C. Elijah

D. Isaiah.

The announc:anon of the birth of Jesus was
nnn? nv andaes ﬁ iﬁrlﬂ an ineinwi HF

A. Bethlehem

B. Jericho

O Nazareih

D. Jerusalem.

The main reason as to w hf\1 Joseph and Mary
went to Bethlehem the mg t Jesus was born

3 "N
‘ } U\:\.uu )\a tflb ! vvu;nvu \U

A. Iook for a safe place to deliver the

gn 3'

B, register in their home town
C. meet thu. parents

D meat

Nllw I ord You have f(ED[ Your IJI‘HII!!\L'
and Vo iy ief )’()llf servani A0 in peace.
With my own eyes Ihave seen your
safviiion,” u ke 2:29- %zn e

i IIFKF utniﬁ
were said by
A. Stephen

U JC S ith]

C Anna

. Simeon.

Whmh one of !ht.: Q“O\\ ing events ¢ sd not

nap JU! uul XHL‘ m; uupuain Ul Jk\LIQ

A.The heaven opened.

B.T uéu; was a great earthguake.

C. A voice was heard from God.

D. Holy spirit came down inform of'a
uurYo,

¢ 1 y »
W ill\,h one ofthe fuufi‘ﬁ' ing ﬁ‘-u;i».sa wa

performed by Jesus to show that He is a
umvcrﬁal mv:our‘7
A l lu:umE the bleadi Yoman.

B. Healmgthe blind Bartimaeus.

!1 i!,.

b i at
the Roman Centurion’s servant.

D. Raising Lazarus.




76.

77

78.

50.

31

According to the sermon on the mount, which
one of the following beatitudes is correcily
matched? Happy are the '
A. peace makers for they shall be called
sons of God
B merciful for God will comfort them
. DOOTin nmm for iiwx will see Gnd
D pure in heart for they will inherit the
earth,

of Jesus

Who among the following disciple

ALY 5‘“‘3‘&‘,"‘&5 gha Pr'ﬁphf Hn

A. Philip
B John
C. Matthew
D. Thomas

The disciples were afraid when Jesus walked
o water bec ause ! ’i;.“w
A ihx:h\f’l( Hewas a ghost

tcaught amy fish

¢ storns and the 3 feared io die
D tho ght He would sink.

Peter healed Aeneas who was paralysed for
cightyears atatown knownas

A. Troas

B Joppa

C. Amicch

D. Lydda

Which one of the following parables teaches
about the value of the kingdom of God?
Parable of the

A mustard seed

B. prodigal son

C. talents

D pearl.

Which one of the following aspects from the

Apostles’ creed shows inat Jesus 15 God's

son?

A. He ascended intc

B He was conceived of lhc pw-croi the
Hol ) Y oapin

€ The communion of saints.

D. The holy catholic church

W hm P‘mizp met the Hhmpun Eunuch, the

A ﬂ!ﬁi‘ wﬂcrm; ofthe \kwah

8. transfiguration of Jesus

(. the birth of Jesus

D the call of the twelve disciples.

The main reason why ’stfpmn the leader of
the deacons faced his death we

A did not pay tax

B healed onthe Sabhath

( tisced the gentiles

D refused 10 deny Jesus

84.

BS.

86.

87.

88.

89.

90.

.

Which one of the ml!ewmg ispotariteof
RASSaEe i traditional A frican m:ew"’
cath
B, Initiation
C. Naming
D. Birth

According to the traditional A frican Society,
ihe dead

A. become angels

B ioined the living dead

C. wentto Ewavcn

D. became ancestors immediatcly.

Whichone ol Ehc foliowi ing r‘sa

commaon bejief heiw i

ren {hrisii
African Traditional Society? Ihu bolh
holisye in

A the trinity of God

B. life after death

C. the ancesirai spiriis

D. the coming of Jesus Christ.

Job and Mark are friends. As they were
playing in the field, Job stepped on Mark
huﬁm" his toe. Mark gotveny angry and
5!;:.{)!,1«:4 Job severally on the face. Which one
of the following fruits of the Holy spirit did
Mark lack?

A, Love

B. Patience

. Seifecoptrol

D. Kindness.

The names given to God in traditional
African Society mastly symbolised His
A. Love

B. Character

D. Power.

Mwongelais a farmer. One ey ening, he
iirund SOMSGHe ‘n\.ﬁxinh FAEOCS fx\)ni ﬁl)
farm. As a Christian, what is the best action
for him to take?
A. Call for help to arrest the thief.
B Run away and hide from the thief.

. Forgive and warn him against stealing.
D Assume he has not seen the thief.

Three of the following are effects of mission-
an fivities in nc*n\n exeept ini ) ]

A Godto Africans

5]
2 owestem edecation

€. Chnstianity
D modemn medicine,
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